PO, 14-9
Me= 3% Mg =4 Me=59

On = (-4) ¢ (%) ] (6)E L
e ={-)8 + () +(4)% 2
o= (D2 +(-6)3 +(-1) ¥
Fio) D .ﬁo = i(ﬁ x M OE,)

N=() 2 (1) ™

M

—

5

Tﬁs = (049) ¢ +(12) g +G2) e
= (24)7 +(18) € ™

I
CA X Mp Uy = % o S

GY-4) GY4) (3)e)
=)o-(isX)] 2= [0 19)- (1)) 7
f[(12)(12) -1

=(-16) ¢+ (-296) § + (144) & 3%1

A A A
D pl 7

(f-¢) (a)5) (4X4)




| \

PROB, [4-9 o0,
T x Mg Oy = L2 te) -2 )30 &
~[(0.816)~ (12Y-2:)1 ] +Z(o.9)/31> (BEDN

= (02)l + ()] ¢ (570)F L

b 7 ¢
(ox W Ue = o 24 L%

(5X2) (5)-6) GX-4)
:Kl'ﬁ/“‘?"’)'(hq‘%oﬂ ; _Z@ - ({lgk/m)’fj\
[ o=@ o)l ¥

= (@0> +(\%.0) ’L(l‘m)k i g

:( 1)¢ +(;/~;)—T+(q<50>/\ 195»147




